Incorrect Monthly Returns - Examples
Example 1
A CIS compliance check is carried out in 2008-2009. The SIP indicates that the contractor has made monthly returns on time and therefore has not incurred any failure penalties.

The CIS deductions included on the 12 monthly returns for 2007-2008, totalled £17580 and this amount was paid to HMRC.

It is established during the check that each one of these returns was incorrect due to negligence and the actual amount of CIS deductions due was £43430.  The returns for 2008-2009 are correct.
The S98A4 penalty due will be based on the amount omitted from the returns suitably abated (disclosure, co-operation, seriousness) i.e.




Amount due




£43430




Amount paid




£17580




Maximum amount considered for a penalty
£25850

Note: if we have to proceed formally each return would need to be considered in isolation and the

          seriousness aspect of the abatement process would need to be carefully considered for repeated

          monthly return failures.
Example 2
A contractor submits monthly returns and pays over an amount for deductions, as follows:-

	Period of return
	Amount Due
	Amount returned 
	Difference

	5/6/07
	£10000
	£8000
	-£2000

	5/7/07
	£10000
	£8000
	-£2000

	5/8/07
	£11000
	£8000
	-£3000

	5/9/07
	£10000
	£13000
	+£3000

	5/10/07
	£11000
	£11000
	nil


Form ECR 105 was issued on 24/8/07 and the first visit made on 22/10/07. 
Scenario 1

The above situation is challenged and the contractor explains a problem had arisen with his computer programme that caused an error with the deductions on the August return. He produces documentary evidence from the software provider and explains that he attempted to rectify the matter on the Sept return. The situation is rectified for the Oct. return. However the contractor can provide no valid reason for the errors on the June and July returns and concedes that this was not down to a computer malfunction. The contractor accepts the error was as a result of his failure to check what amounts were due and payable therefore has been neglectful. Each return has to be considered in isolation and in this scenario we would accept that the contractor has not been negligent in relation to the Aug & Sept returns.

The total shortfall on returns where negligence has been established is £4000 and a penalty would be considered using the usual abatement process. 
Scenario2
The circumstances of the case are the same except that it is established through challenge that the contractor deliberately understated returns to aid his cash flow problems. He admits that knowing a visit was to be made he tried to cover up his actions by paying over the shortfall in Aug with the Sept return and hoped earlier periods would not be discovered giving him an opportunity to later account for the amounts due. In this scenario the Aug return is also incorrect through negligence therefore the total shortfall is £7000 and a penalty would be considered on this amount using the usual abatement process.
